FHTE (20194 ) E REFRMESHIESMISHRSERMEMHE—E (2019,07.1080E)

h7d E5A E5A
g == 5 % = Er—
wene | " WiEANS At 2 2 -] BotE] o "=z
19010 EAEIY —E BB ATE  (hEER) 5/10(2) ERPERSLESS— | 100 1 BOHDERTY
N ‘ : 4/8(8) 5/10K) | PREERE. =ERED
19011 EAVEIY —E B EHAE | (RIHESIE) 5/16(K) EFEEASEE 100 NWFNHEBR LT IZE0)
I = 6/11(N)
19020 *E%ﬁzgi% 250 MERFETT
E 2BE 6/14(2)
- ERBES b 5—
19021 SRR EE 3EE(PEE) | 6/20(K) -
HEETHME 4B B () 6/21(%) EF'F’?L:,EDEE L/< =8
- 3EE (IS 6/27 iEEET
19022 *H;*?ggi% Nl ) REFREAAME 100 §
IHEERHE JEE(EIE) | 6/28(R)
SEE(EE) 7/10(K)
19023 *Ei;?égi% 6EE (812 8/7(7K) FERESIASME-L | 65
= 7HEEEE) 8/19(8)
i}ﬁﬁ _ 5/7(N) | 5/28(:K)
(¥ME) 5AEB(HE) 7/12(&)
AR EE - — .
19024 e 6EE(H(E) 8/o(&) | AMPERLLZS- | 65 BERE. DEAE. LERS.
- =150 M =I5
JHE(RE) | 820(N) S A AL
SEEHES) 7/23(:K) EATEREENTETIEL
19025 o 6EIE(HL15) 8/29() REHREAREE 65 S8 BRORECSDET
7EEHE) 8/30(£)
SEE(EHE) 7/26(%)
19026 *ﬁ%gﬁggi% 6HE (@) 8/22(k) ERETSTALAE 65
7HE(FE) 8/23(s&)
vEE YEE - REEHEIE 188 9/5(K) EELDOHDRIRTY, BKIE
19030 | B MR EEEEIME RRPRRMLESS— | 300 | 8/2AR) | 8/23(&) |KBBLLCOFHETEHDEEA
(EH) (BEBHOH2ER) 28H 9/6(s&) DTTERSIESL
g MR REE 1AB 10/1(K)
19040 |z BPISEFEHE ERBESSEE - | 100 | 8/27¢K) | 9/17¢x) |2BRMEDERTT
(SF9) (MBI AT -t ) 268 10/8(X)
Y- EIPEEE -
19050 RS EEREEE B D 10/90K) 100
H-P R SEEES .
19051 - 55”525?% ware | DEQ 10/10() 100
HeE
oo M‘_i . = R Hibiohg . O\~
19052 | RFE | o ;¢;ﬁ?$i?§%5¥ﬁaﬂ4lz B126 10/11(&) | AMERXIEys- | 100 | 940k | 9/2sei) |\ GPAORECT. BEO-O
(B L2 =
Y- EIBE(T -
19053 BTG ﬁ?gﬂg:@a?%%%%ﬁﬁﬂ{lk HZ® 10/16(K) 100
H-P ST -
19054 PR IEE Eﬁi{%%ﬁﬁﬁﬂ{l% B&6 L0/17(8) 100
188 10/18(2)
HEE H—EXEEEEE 2BH 10/22(:X)
19060 | BRE | RERETIESEETE SRS SRS — | 100
(B hRIES © 3HH 10/29(:X)
4HH 11/6(7K)
188 11/7(k)
HEE H—EXEEEFEE 28H 11/8(%)
19061 | BRE | RERETIEGEETE SRHE EFEEASEE 100 4 BRI EDEETY
(252) HILERS O 388 11/11(9)
51
488 11/14(£) aﬁ}ﬁi 1008y
OM3(E) | 10/AE) |mems 19062
188 11/20(7K) FHEES : 10063
HeE Y- CREIDE S e 11/25(A) 2Dy VINDOBEE
19062 | BRE | REREIESIPELE SR EWEEAAEE 100 BERLTLZE0
(B2) HILERS @ 3HHE 11/28()
488 11/29(%)
1HEH 11/26(X)
Ul =] H—_EXEEEEE 2BH 11/27(5K)
19063 | BRE | RERESIEEPEEE BRHE ARSIkt s~ | 100
1) hEEL1E @ 3HHE 12/11(K)
488 12/12(K)
1HBE 1/15(K)
4 BRIMEDERETY
% MR TIBNEE 2HH 1/16(K) T SHEEHNDHOFIDT
19070 EREVRSRES bt — 150 12/6(&) 12/27(%) . N o e
488 3/13(2)
. SRR EE
19080 (@F‘%) HFDEFIHE 3/6(&) EHFEBFESEE 100 1/31(%) 2/21(&) |1 BDHDEETT

(PFENVEAREASZIR)




